EARAROBEEIERT — 2 N— IBISH —F

201786A7H (k) 5EIEMH4H

B C3— H5R4mE ESR IR
[AE4£] 1 7% :250,000 ™ ~ 23#%&:60,000”  33&:30,000”  437&:20,000MH .~ 57&:15,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
B 4 | At—H 1:32.7 3-3-3-3 | 41.3| — 2 500 | AR (FEk)
1 2| ¥HhF 54.0 =) ) |EHEE
L:24%2 v ML B:LTFq~n0O BRI 415
- 4= ihEd :32. -1-1- . — RrfR (FiH)
2 6 EvSY¥FLH 4 5 i 1(73%:? 1-1-1-1 | 4.7 3 (5_034) el
RL:Z7T—KNLVZX7T7—K B:=ZY/2030 A #a
E i o4 | EREE 1:32.9 2-2-2-2 |41.7| — 1 485 | 1BAEEA (FEfR)
371774V 77yt 56.0 (3/8) o) |mEEE
v IRy b BAXTYXZX HRXEHE /-
S = o4 | KHFEA 1:33.1 3-4-4-4 | 41.5| — 6 486 | =FAFE (k)
41810| ¥ —=T7AXTF 254.0 (3/4) (+4) SaEn
RE—E—-HNEY B:T7AS5RE)7 ~ FEBEIRAREYERRS
N FEWEAT :33.2 ~10-8- . — EEFIR (Em)
N REEEPE Li] R 1(13/32> 10-10-8-7 | 40.6 5 <4+119) i
L ZZHh<KR B:NT7ELIO—N— T7VT7TT—L4
= e o HEFE= :33. —5-5— X - ZxEz (Bf
6l5l5|F1AnFg—K H 5 ey 1(13/32)3 6-5-5-5 | 41.5 10 (4_327) ﬁ;gﬂ
L:7RYf v L—> B:F7FXO-) Al BEEE
XSRS o4 | BTR— 1:33.7 9-8-6-6 |41.5| — 7 478 | WITIHEE (FEE)
7i1|1|/¥FRT YT 56.0 21/2) Ga) | Tr-ZpEYar
RixAavk-5— B:/—-FoH54X Esrvae]
N . 1Lyl 5 E ~6-7- — MAHIERS (FER)
8 NESEPEES H o7 oL 1(?8).3 5-6-7-8 | 43.2 9 (4_516) ujmﬂgm
L:IT7IN—FK Bty hR=— A8 HfE
— — S o6 | NEET 1:36.1 8-9-10-10 | 43.4| — 8 449 | BIEFIERX (EH)
9 4| ATXFTTA4TZ ) (+4) ) Fo LA MED
RiANRINGR B:TUF4322I0 EvJILy RT77—L4
e B 6 | BEHT 1:36.2 6-7-9-9 |43.9| — 4 419 | EAEIE (T
10[8]9 | X*T v & 0 (1/2) © | @) sA-rK-71-y-7
R:T7IRATZ4 b~ B:IF> # HBE
® 1—F—@EBIERL
13—4— 6,7,(2,10),3,(5,9),4,1,8
2a=5F= 6,7,2,10,5,3,9,1,4,8
Ja=5= 6,7,2,10,5,1,3,8,9,4
40—F— 6,7,2,10,5,1,8,3,9,4
[ N5
B 2 370H 714K 2-6 440 e E 2-6 1,590M JEE 2-6-7 610
B B 2 110H 2-7 160M B = 2-6 1,550 JEE 2-6-7 6,310
6 1504 6-7 280M B H 2-6 2,800
7 110

ABICOVWTRDTEEERROODE. TR LIV,




